RS 7 4 B2ER/RSFAREE EFB AR TR
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E 400m 48. 31%|* WA ek —HE 3 T 9 8 4 20210728
g3 400m 48. 57| W RSt —H& 3 HEIR P 4 2 6 20210728
5 400m 49. 51%[* WK KW G 3 %@ 9 5 7 20210728
3B 800m 1.51. 61%[* WA RE G HEGE 3 T 7 7 2 20210730
E 800m 1.54. A1%[* AN REL EREEE 3 HEPR S 2 6 4 20210730
Ex] 1500m 3. 55. 20%[* e A TN 2 ¥ 2 9 5 20210728
5 1500m 3.47. T1x]* YN P HE = 3 T 3 10 3 20210728
3 1500m 3. 56. 74x|* WA A T HEGE 3 A 8 13 20210729
E 1500m 3. 55. 84x[* Kk TH O H B 2 T 1 16 2 20210728
Ex] 1500m 3. 58. 59%[* A TH FE AR 2 Rk 3 15 20210729
[z 5000m 14. 36. 41%[* el B P B 2 Tk 1 1 10 20210730
5 5000m 14, 37. 04/ BA R P HEGE 2 T 2 19 11 20210730
5 110mH (106. 7cm_9. 14m) 14. 27%[+0. 7% IEEESS %%ﬁam 3 T 4 3 1 20210801
Ex] 110mH (106. 7em_9. 14m) 14, 37%|+3. 0% MEEESS 3 ERRE | 1 6 5 20210801
5 5000mW *|* fpfE T Rl 3 T 2 1 20210729
5 4 X100mR 41. 12%]% ERJIBE Q) =>FHIEE Q) = IHEK B) = K)MHER(3) i 9 2 2 20210728
B 4 X 100mR 40. 70%[* EAJIEE Q) =2F HIEE 3) =2 LHE K Q) =2 KJIFEK(3) HEV I 3 7 4 20210729
5 4 X 100mR 41. 59%[* tLARERE L (2) =8 HEH R AR (2) =k 5UaTE (3) = mke 5 3} (3) Y& 6 4 3 20210728
5 4 400mR 3. 17. 23%|* HE 75 K (3) = ka2 (3) = RIFOEIR (1) = Wi e (3) Tk 5 3 3 20210731
5 Bk 2. 01%[* IEERESS 3 i 2 17 4 20210801
] Bk 2. 06%|* NS 3 VR 8 5 20210801
5 Bk 2. 01 i)l #HF 2 T 2 25 7 20210801
5 Bk 1. 97%|* =S 2 A 3 12 20210801
3 Bk 4. T0%]* A T ﬁ}’%r,%‘ 3 TE 1 3 9 20210728
5 BBk 7. 03%|-0. 6% inH  fFESE PN 3 T 2 25 12 20210729
5 — Bk 15. 02%]+3. 3% 2O s 2 T 2 9 5 20210731
[z — Bk 14. 31%[+3. T% B3R G 2 s 18 22 20210731
5 — Pk 14, 68%|+2. 9% REIE Sl G A 2 T 2 3 11 20210731
5 AL (6. 000kg) 14. T4%[* iy BEYR L 3 T 1 10 9 20210730
% Mz #e (1. 750kg) 42, 29%|* M S Nl 2 Tkt 1 27 10 20210801
IZ s~ ~—P% (6. 000kg) 56. 62%]* /N I JE 3 T 2 7 9 20210728
5 Ny~ —F% (6. 000kg) 65. 48%|* /N N 3 BE 14 1 20210728
3 <00 £ (800g 1986~) 60. 20%|* R il BB E 3 T 1 26 4 20210729
5 0V £ (800g 1986~) 62. 0 1x[* BRI PRA R B P 7 7 20210729
L <20 B (800g 1986~) 52. 11%[* KA ﬂ%jt FATE 3 T 1 14 20 20210729
5 J\FEi 4 (%2006 ~) 5036%|* — IPNG Y 3 15 20210729
5 100m 11.96%[-1. 9% —fa A IPNGE 3 J\FEgEE [ 1 3 6 20210728
5 400m 53. 82| —{H PiUNGL S 3 J\ g 2 8 5 20210728
5 1500m 4.57. 18%|* — il N 3 I\ Mg 2 3 11 20210729
5 110mH (106. 7cm_9. 14m) 15. 99%[+0. 5 —faH A TR E 3 I\FEBiH [ 4 7 3 20210729
5 Ak 1. 86%|* —fa A IPNGE 3 J\FgiE | 2 5 1 20210729
5 A EBE 6. 51%[+2. 8 — A PiUNGLE S 3 I\FEFEE | 1 2 8 20210728
5 AL (6. 000kg) 10. 32| —f{a N 3 J\HgER 1 24 18 20210728
5 R $ (800g 1986~) 46. 42%[* — a4 TR E 3 \FEBi ] 1 7 10 20210729




I 200m . 56% TR 2 i 6 6 2 20210731
S 200m . 05% kil £ 2 YETR G 1 7 5 20210731
= 300m 2. 14. 27% WA RZE 1 %% 7 8 4 20210730
iz 1500m 4.30. 72% RIEAA 2 T 3 11 10 20210728
oS 400mH (76. 2cm_35. Om) 1. 01. 40% ET HE 3 TiE 1 6 1 20210729
IS 400mH (76. 2cm_35. Om) 1. 00. 24% i 3 HERE | 2 5 3 20210730
S 400mH (76. 2cm_35. Om) 1. 01. 44% A 3 N 2 6 20210730
% 400mH (76. 2cm_35. Om) 1. 00. 81% BB 06 2 TiE 4 5 2 20210729
oS 400mH (76. 2cm_35. Om) 1.01. 77% BB 05 2 HEPR S 1 3 6 20210730
Pis 4 X 100mR . 97% A B S 29 (2) = REATSERE (3) = k0 0 -EifE (2) = /K (1) e 8 2 2 20210728
s 4 X 100mR * AR IEZE (2) SREATERE (3) =R 0 £ () =1E A (1D AR s 1 8 20210729
S 7 Bk * HhE  HAi 2 T 2 20210731
A % ik _40% Fll AL 3 R 20210731
% bk * EEiae 3 2 PR 20210731
LS ENERk . 54% B i 3 T 2 20210730
S fid L% (4. 000kg) . 20% A i 1 T 1 20210729
" AL (4. 000kg) . 53% Ry A N 2 T 1 20210729
IS FHERe (1. 000kg) . 33% Ve B = 3 e 1 20210730
= v~ —P% (4. 000kg) . 46% e BRE = 3 P 20210728
% <20 $ (600g 1999~) .61% IR A 3 it 20210731
S =20 B (600g 1999~) L 11* )T AR b 3 Vs 20210731
= 1) B (600g 1999~) . 33% JI&  /NE A 3 TiE 20210731




